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SECTION — I
gqus - [
CHILD DEVELOPMENT AND PEDAGOGY
1ot faema wd Remeres

There are 30 questions in all in this section.
All questions are compulsory.

0 WUS T $el 30 Y 2 |

aft w arframd 2 |
Who among the following has not propounded the learning theory ?
(A) Thorndike (B) Skinner
(C) Kohler (D) B.S. Bloom
fe1 1 3 ferw nferm fagr=a =61 wfares &t feben 7 EE
u
(A) 9HEES (B) ferT O
(C) &R (D) i.ud. =M
Which of the following theory 1s also known as theory of reinforcement ?
(A) Operant conditioning theory (B) Stimulus response theory
(C) Classical conditioning theory (D) Theory of insight
1 7 @ fopw fagT=a 1 qaeeH =1 fagra i ad 2 ¢
(A) Toramga s fag= (B) 3¢ 3l fagra
(C) wmETg a4 g (D) gt fagr

Choose the example that illustrates intrinsic motivation.

(A) Vandana is working hard to score well in exams as she wants a gift from her parents.

(B) Urmila is completing her homework so that she can watch TV after completing her
homework.

(C) Ila is reading more books so that she can secure first rank in District and her school
get fame at District level,

(D) Megha is exploring various resources for her project because she loves learning new
things.

frafafiaa 1 © 34 e &1 934 il S 3aaiEs TSR @i gvian &

(A)  F=A1 Fen 3§ 318 31 W 1 o fou 3 afiem @ @ foroa 92 s wrean-foar @
IUBT T L Teh |

(B) 3fifen werhe e THIS L W 8 Hifh JEhrd quTd Hh 98 Al 7@ Teht |

(C) 3 9gd IRI Jedeh UE T & FiTh a8 T97cl § WU T UIed hieh faarerd 1 9 e
T T U9 BT J1Edl @ |

(D) TEN AR i@ w1 & fau fafa= g qorm @ @ @it g8 95 STEwi g s @ J
st 2 |
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Which among the following is different from the characteristics of a Good test ?

(A) Reliability (B) Validity
(C) Objectivity (D) Aptitude
o o 9 A o1 vk 3w aiiew i fsmasi A = d v
(A) Taveadt=a (B) war

(C) =i (D)  aifiragwran

Which of the following 1s most important in learner centered curriculum ?

(A) Teacher (B) Child

(C) Contents (D) Environment

Toraefi Sbfa urgerssn & Frerferfiga o 9+ w8 ngw=gi 2 ¢ mam
(A) AT (B) &= B

(C) fawasg (D) STATeT

Repeatedly asking children to engage in learning activities either to avoid punishment or to
gain a reward will

(A) Decrease extrinsic motivation

(B) Increase intrinsic motivation

(C) Would encourage children to focus on mastery rather than performance goals.
(D) Decrease children’s natural interest and curiosity involved in learning.

TR -G T bl G 8 994 A1 541 UM o feru digA 6 nfafafemi § gea g9 < fau s «=n

Tiai g ?

(A) 3Tt FTadt SROTT Bl HH FAT R |

(B) 3eh! JT=dfieh TOTT [ ST & |

(C) ==l ! ALY Te3ia il s meny afae = & i sm =g 0 & fau genfza
HATE |

(D) =i i Wrehldes & SR Higd 5 wihe g & TS %1 o & 8 |

According to RTE Act, 2009 working hours per week for teachers are

(A) 40 hours (B) 42 hours

(C) 45 hours (D) 48 hours

& 3. arfufrm, 2000 % srgEm et % fore vl awarg sm & fuifa 92 2
(A) 40 (B) 4272

(C) 452 (D) 482
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According to NCF 2005, the role of a teacher has to be
(A) Permissive (B) Facilitator
(C) Authoritative (D) Dictatorial

NCF 2005 % 3781, U freres 1 gftrest 21 =nfze
(A) ITAIGH (B) gfaureran

(C) anferpits (D) TAHTEITR
The purpose of evaluation is
(A) To label children as slow learner and gifted children. E EI;.

(B) To identify children who need remedial measures.

(C) To diagnose learning difficulties and problem areas.

(D) To provide feedback on the extent to which we have been successful in imparting
education for a productive life.

HodTeh 1 3¢39 FNEaI 8 7

(A) == %l U forenefl 3w wfawreneft s=ai & =9 1 sifera = & forw |

(B) 3 w91 Fil 729 w1 & foru f52 3=t 3uma &t rmavaenar 2 |

(C) Higa 1 Figaga s auen &l o1 gm0 & foau |

(D) 38 U1 doh IdqfE YeH 1 STal e g1 ScaTeeie sfad o fora e veH % § 9% @
21

A Reflective teacher creates classroom situations for students to
(A) Listening the lecture.

(B) Taking notes from the lecture of the teacher.

(C) Maintaining classroom discipline.

(D)) Promoting interaction between students and the teacher.
e Fa=fier foveres san—+y o e oftfeufs s e & fr s
(A) <ATEIH A & |

(B) hef-het 1 foereh o A & Hicd of 5 |

(C) hefT-he T T &1 T4 |

(D) Bt SR e # areries s +i vieare fae |
Action rescarch means

(A) A longitude research,

(B) An applied research.

(C) A research initiated to solve an immediate problem.

(D) A research with socio-economic objective.

TeraTeTeh AEYT 1 37 8

(A) T 3geed ST |

(B) T JIIE AU |

(C) U 9y TSro@ deehiet GO <hi B foban 51 @ |

(D) wmTTHeR- e 389 & 91y o 9y |
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Match the following Principles of Development with their correct description :

Name of Principle of Development Description of Principle
(1) | Proximodistal trend (a) |Head to Toe Sequence
(2) |Cephalo-caudal trend (b) [Different children develop at different rates
(3) |Inter-individual Differences (¢) |In a single child, the rate of development

can vary from one domain of development to
the other

{(4) |Intra-individual Differences (d) |Growth from the Centre of body to outwards

M @ G @
(A) (d) (@ (b (o)
By (@ (b () (d
€ () (@ (b () Eae
(D) (d) (b)) (a) (¢ '
ferferfiga faemme & fagrai =1 34 v avia @ e $ifse

e & g m forgra =1 av

(1) |wfiy-guiigafen (@) |Rea e

(2) | — werfire feam (b) |fafi= s= - et A aga & |

(3) |siadafees i (c) |forelt v w=d 3 forenrar <At @, foreprar & weh & <ht aman
a4 T 81 wehell 2 |

4) |simudafds fmmnd [(d) |3t g @ e A 3 gl

Mm @ & @
(A) (d (& (b) (o)
(B) (@ () () (d)
(C) (© (d) () (@
D) @ (b @ (©

Development proceeds from to .

(A) General — Specific (B) Complex — Hard
(C) Specific — General (D) Simple - Easy
fama ° hl AN T 2 |

(A) wm= - fafore (B) feet — Hfaa
(C) fafsre — amm= (D) T EH
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17.

)
Which of the following is not a characteristic of early childhood ?
(A) Pre-Gang age (B) Imitative age
(C) Questioning age (D) Toyage
Freferfiaa & 0+ o Taw f v adi 2 2
(A) WTH-2reit 3Y (B) 3T 3
(C) TE H0 i 31 (D) Tt g
The Nature and Nurture debates refer to
(A) Genetic and Environment (B) Behaviour and Environment
(C) Environment and Biology (D) Environment and Upbringing
wepfel et arwor fererre freferfian 3 & forma weafRm g 2
(A) ATERTER Ug FrarE (B) SHEER Ud rarEat
(C) drareRV Ug Safasm (D) STATaR Ud YT -]

Which of the following statement or statements 1s/are false ?

(a) [t is not necessary to understand that each child is unique.

(b) The child develops as unified whole.

(¢) Any problem in one aspect of development is likely to affect the others.
(d) Development is a sequential process.

(A) (a), (b)and (c) (B) (b)and (c)
(C) (c)and (d) (D) Only (a)
fafafsa F R AT S U H2H ITA 2/ 7 I
(a) B UHFA1 & 42 2 fop wes v il 2 | e

(b) <A1 U Uhishd YU o ¥ | faehfad i 2 |

(c) Toremra 3 ueh yge] W et wowan 1 gei i wwfa w1 1 grmar 2idi 2 |
(d) foepra v srghiies wfspan 2 |

(A) (a), (b) 37T (¢) (B) (b) 3 (c)

(C)  (c) 3 (d) (D) % (a)

occurs when there are orderly and progressive changes in a human being due to
maturation and experience.

(A) Growth (B) Development

(C) Physical changes (D) Mental changes

79 A gl 2, ST gitredn 3 SIqWa % SR AT | shaag S savia
e Eid € |

(A) dfg (B) fawm
(C) Wi 9ea™ (D) HHRS 9iEaq
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A child of 16 years age, scores 75 in LQ. test. His mental age will be years.

(A) 8§ (B) 14

(C) 15 (D) 12

16 =4 7Y 1 == §ig Tt waor 4 75 3 I A1 g, IWHI AAfGs g W
gt |

(A) 8§ (B) 14

(C)y 15 (D) 12

Each person’s work is a reflection of certain abilities, in performing any particular task, a
person selects some of his mental abilities as a model. This principle was given by

(A) Thorndike (B) Thurstone

(C) Gilford (D) Thomson

Wi A 1 e ffvaa Fraarst w1 wfafera g 2, foreft fos et =1 w0 5 safa s
T AHTG TREara § | % %1 Sfaey w9 3 g9 ol @ | I8 fagr fee fean ¢

(A) difers® (B) e

(C) frewig (D) UfoeH

Which of the following is projective technique of personality measurement ?
(A) Rating scale (B) Observation

(C) Interview (D) Thematic appreciation test

= o & 9 ot safeaed amm < wad fafa g ¢

(A) T g (B) FEATHA

(C) TR (D) U T T

[.Q. of a talented child is

(A) 130 (B) 140 EaE
(C) 55 (D) 120 s
fermaredt st i 9fg wifel 8t 2

(A) 130 (B) 140

(C) 55 (D) 120

Schools should cater for individual differences to

(A) Make individual students feel exclusive.

(B) Narrow the gap between individual students.

(C) Not to assess the abilities and performance of students.
(D) Understand why students are able or unable to learn.
hedl ol SHTeATd FH=IA13Tl Sl 214 TEA1 Tfae FHifh

(A) W BT i fafire wegy HEH & |

(B) BTl % i< < 3R Hl FH F ag |

(C) Tl ua B3 i awarsit 3 wes i 32 S & fera |
(D) GuE & foru fop o digd § amed a1 s =i 8 |
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Signs of gifted child are :

(i) Novelty in expression

(i) Curiosity

(ii1) Talkativeness

(1v) Hyper-activeness

(A) (1) and (iv) (B) (1) and (i1)
(C) (i) and (iv) (D) (i) and (iv)
HferaToTTedt ST % AEv F E 7

(i) Afieafaa ¥ Feaan

(i) fogmen

(iii) amatermy frera

(iv) Afcafspaarn

(A) (i) 3 (iv) (B) (i) 3 (ii)
(C) (i) 3 (iv) (D) (iii) 3 (iv)

Who gave the formula of 1.Q. written below ?
Mental age

[ntelligence Quotient = Chronological age x 100
(A) William Stern (B) Terman
(C) Binet (D) Galton
ﬁﬁﬁ’ afetr & fou fnafafiaa q—‘;TL‘E@ fopea feam 7
AR 37 E3E
ofiz oifed = < 100 o)
HIATIFhHH HTY et
(A) Taferm = (B) o
) fa (D) eed
Creativity is usually associated with
(A) Hyperactivity (B) Low comprehension
(C) Convergent thinking (D) Divergent thinking
gaTeRhdl Jed: frad amfia g
(A)  rfermferaan (B) A SR
(C) fired o (D) Rl fa=
Which of the following condition promotes adjustment ?
(A) Acute anxiety (B) Obsessive thought of guilt
(C) Fear of illness (D) Free from neurotic fears and anxiety
forafafiaa # @ <5 9t feafa aaricH 1 sear e 2 7
(A) it fa=a (B) MUY &Y % SR F LN Hid
(C) <mrd =1 e (D) faferea war it faan & gfe
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Srishti is the student of class two. She was taught basic mathematics by the teacher. Next
day while shopping she pointed out the mistake in total done by shopkeeper. Which type of
learning is this ?

(A) Negative transter (B} Positive transfer

(C) Bilateral transfer (D) Zero transfer

el — 2 %1 B giE F1 i 7 ge o fav % gara s, o e i soe aem |
G SHiEH o IT=1 gehHeR gR <l TRt am < rerelt w6t fafed ek wd wtamn | @ srfm

F HH T IFLE ?

(A) THcHE TIHET=I0 (B) HHRIcHE LTI

(C) feusha wommmtm (D) 33 FIHTA EAE
u

Two opposite desires present in an individual at the same time is called (=]

(A) Conflict (B) Frustration

(C) Anxiety (D) Pressure

U SAfad ¥ U a9d W ) faufia ses137 1 81 e 8

(A) &% (B) el

(€) famm (D) s

Ravi’s intelligence test indicates that he is in category average to above-average of
intelligence, However, his grades in reading, spelling, social sciences and science are very
low. His Math’s grades are quite high and writing skills are adequate. Ravi most likely has
(A) Dyscalculia (Maths Disorder) (B) Dysgraphia (Writing Disorder)

(C) Duyslexia (Reading Disorder) (D) Dysphasia (Language Disorder)

tfa =1 gfg e $fia s 2 for ag sitea 3 o, iaa 8 sifuss sfgwar 6t aoft § smar 2 |
FIAf T, a1, T fasm i fasma # 30 U w%a u 2 | 39 1@ & Ug wrdl
s & | fer org et # 3= ® | 9§ aifees oo 2

(A) feudespiom (nfira & arafia fapf)

(B) femmitan (eie | wwifed fashfd)

(C) fenctfamn (vea @ iy fafa)

(D) feawfsm (de 4 grafud faspfa)

“Learning is a process of progressive behaviour adaptation.” This statement was given by
which educationist ?

(A) Skinner (B) Woodworth

(C) Crow and Crow (D) Gates and others

“HHEAT agR T I A 6 vk iR 2 1 38 %o foha fienfag < g fenmn ¢
(A) fepm (B) gzad

(C) 1 T 3l (D) ¥gH wd 3=
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wug -1l
HTET - |

f&=i

T @US T F1 30 T E |
ooft g wferd § |
31, Hiftas qodie & TaY H I9d HUH 2
(A) Wfgs gearhd § elaia wa @ S 2 |
(B) vifies geteenal faram, wgefier aii for fass g =nfee |
(C) TiRges e | FHgHEdl 31fue gl amfau |
(D) Wi geareha # faenefl @i sremfieafaa % stem wn fiem =iz |

32, “HeATha Igeval it wrfa <hi Hiwr w1 fvim s i gk 8 | e 1 Jg aftar feweht
27

(A) TTgehfcH (B) @ T\
(C) =M™ (D) TEERH

33, foremeft 1w weeft HfeEi 1 g Fw guHER I arer e weer 2
(A) e freo (B) &Aieh f3remor
(C) 3y o (D) ITERTHS farau

34, Haq Ud SIS GedThA FIEN S : L]
(A) 3o forenféfat o1 fiar geaiend glar @ 2 | [Era:

(B) Tarenfefari =1 sl il 1 iR s A @ 2

(C) zad fuvraeni i feremeff <6 faw wnfa it seprt g w@dl 2 |

(D) I8 Soriedt afl AR &1 31 Hehdl 3 S ferameii- T a9 & |
35. 3Tt wegor & Tt 1 forad wel 1 wmm e 9 2 7

(A) d (B) =

(C) T (D) =R’
faaferfiga ey < et 9t uva wEn 36 W 40 a6 & It i

TS 1 4 Hed Moy T&ar @ | U g 2 T fotdt feaat 38 st oir wiedt # | S
T3 97 ) feorrdia whfeafaat 8 amm 6 oot & wg Td T asd SR MY S WY Te A E, A
Hu1 3T 1 T TE H Gehil | Ieh 70 1 I8 HigA1 =i fh 9 Sfad @A gL IS H qAA & | 74
i ez @1 gt B geredl 2 | Fi afed T va Tfitafd s amm od €, 3 it gian 78 381 dhd
A gl & o= Wt U1 Tt bt od @ | R0 STHeR 9 3uh fatel 3R gfva wara | o
T 1 TTA A & | AR, W o At ot wen fuerft St sr adesn ¥ i 2 9 8 s ud
HM B 43 8, Foma 37 wifawa faa 3 sronfa 1 fow ga e 2 | gcs wgs & Sfeq 1 3w
BT =TfET | Afe qrawT s 39¢va T 2, df O W6 A F01 | R R ¢ gHD! T TEAT ST
8 | 3eqvaEA 7S farn uqan <t 9a hl T@ 8 |
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36. ‘"ea’ vree &1 udl wiy-faeade 2 .

(A) HE+1d (B) Har+1d
(C) #g+ta (D) Wl +1d
37, fr=afafiaa 19 e vee = waiuaEi 1 2
(A) =9 (B) aig
(C) 3w (D) T
38, ‘Tt v = ot g
(A) dEH (B)  3reriefht
(C) w4 (D) THY®H
39, TNV A W TG IIsE F I B
(A) TAEEI | (B) ¥ W |
(C) WA e | (D) W= i feam |
40, ‘AH WS R : —
(A) 3o (B) WIgarae® a3 B
(C) iTferamereh Gl (D) cafeaT=eh M

frafafea meme % IR oA T@ 41 1 45 7% % I G

74 yfa, yfa v aH aren 9 3R 3HeA gwpld - 39 @1 % aftafad =g 3 ay @ =w
2 | fis = vitflaes w9 3 amfa % wfd aa €1 gum wder @ | 5w gedt & w6 == A,
g Frder gt 8 | erelt mren <t v | S 3nged it vl udh 2, 378 < s a8 aguT Saerd 2 |
wigfi o Frara e arel agsa g 1 gE 3 B | 39 BT & gt argyii < Ha wred w2 |
gefl W1 & 3R S g= i § gl 1 OA 2 | Sl 48 wre & 3, 981 SH 3R Y 1 JeY 3=k
31 STg o1 Tl B | HIAT 3104 W9 i I HHE WTe W S @ | $9 Yo 92 0 ge et et 5
TR B | 3T F9 IR A= 1 9 T 8 | A S 3F THR H 9T Ao a3 3w Gt H
" A 2, TRt i s g & |

41, ‘31'11\?['3?[3125%:
(A) T s g g |
(B)y Fwe grasga sa 7 |
(C) Toas goa @ | afaes 8t |
(D) ToEss1 goa 3 Hiw 1 &b |

42, ‘faferi’ wrse <1 v g
(A) it (B) ify
¢y ffa (D) fafi
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48,

49,

50.
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(13)

“I7E1 o HIT el Trgu S H S HA 3 |7 A H R W 8 ?

(A) |9 Wi (B) T 949

(C) dfew Fqum (D) &= 3@
‘I’ ITeS & ¢

(A) wffem (B) AqEehfem

(C) gfeer (D) It
‘I’ 31 T I 31U B

(A) Tafvaa (B) UA

(C) afed (D) frffa

a1 & feheH M AR U E 7

(A) IR (B) T%

(C) (D) dH

TEH1 o HATHT 9T 164 1 oI 2 ;

(A) Taamneds a (B) e drr

(C) YT I (D) T 9T

2l WI5g1 <l e  fore g faum Fagd saeman 2 g%@;
(A) T fom (B) o ferem Eraf
(C) e fag (D) @i fags

‘GTeh b dH TTd’ AIhife 1 Fat 302 &

(A) aad 37en fo=m w@Ar | (B) HHATTHR &1 HTT |
(C) weluss Hi feafa a4 & | (D) HiHTdd THedd 1 T |
‘a5 Afedd a1’ & 31 3ged qerE R
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(B) 3ree &g fdw |

(C) faenfeia grr wamem va frerss grr antey | o

(D) e TR | sl

‘HAgYH WA AU FUH 3ehfa % a1 fergamr wRy w0d | Seafied @ R W %
farenforli aq e i 2 2

(A) Wi T | (B) I MYfhes @ |
(C) WTeAfHs W F | (D) F=3 AT T |
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(A) GHT SRS | (B) for@mr st e |
(C) e 3t forem | (D) TeAT 3R & |
Fera fora e it 9 Hefem 2 2

(A) FdU (B) dreH

(C) e (D) dred

femarem (fepid <) fora wer i srftrm qreft 2 7

(A) 9&TF (B) v |
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AT WERTITEA <6 AT § afrfera 98 2
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this section.
All questions are compulsory.,

Writing 1s more complicated skill because of
(A) its variety of fields.

(B) its last position.

(C) its inclusion of other subjects.

(D) graphic representation and presentation of structured thoughts.

Language games help

(A) toimprove speech (B) to build structures

. . EAF
(C) to build vocabulary (D) to learn grammar B 3
Assessment of broad learning behavioural outcomes is a feature of
(A) CCE (B) Peer Evaluation
(C) Formative Assessment (D) Summative Assessment

Which one is not a characteristic of Peer Evaluation ?
(A) Effective monitoring (B) Metacognition

(C) Saves teacher's time (D) Faster feedback

Cloze Test Evaluation was described by
(A) C.I. Dodson (B)  Woods
(C) W.L. Taylor (D} Roberts Paul
P.T.O.
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Passage (For Q. Nos. 36 to 42) :

The messenger had no idea what all this was about. If King Avinash meant to attack his
king’s fort then all was lost. For King Bahadur was old and weak. These days he spent most of
his time in prayer. After much thought the messenger decided on a plan, “Sir, [ do not know
why are you so angry,” he said. “All I know is that King Bahadur has gone mad. 1 cannot work
for him anymore. I had decided to the court and work elsewhere. If you will take me in T will
gladly work for you, my lord.”

36. The synonym of “attack’ is
(A) war (B) dispute
(C) invade (D) conflict

37. The synonym of *‘mad’ is
(A) sick (B) insane

(C) nervous (D) sensible

38. The antonym of ‘angry” is

(A) sharp (B) inturiated

C) calm D cace

(&) (D) pe m7m
39, The one word substitution for ‘old and weak’ is e

(A) infirm (B) sick

(C) humble (D) polite
40. The correct noun form of ‘decide’ 15

(A) decade (B) decided

(C)y decision (D) deceive

41. The correct verb form of ‘lost” 1s

(A) loose (B) losc
(C) loss (D) lest
42. The correct spelling is
(A) patiritism (B) partritism
(C) patriotism (D) potriotism

Passage (For (). Nos. 43 to 49) :

Being free filled me with happiness. Now that my chains had been removed, I could sece
the capital city, Everyone was ordered to stay indoors in case | stepped on them and they got
crushed. The first building I saw as 1 stepped over the city wall was the Emperor’s palace. It was
charming just like a big doll’s house. I had to lie down to look inside and as the Empress came

to the window smiling at me, she gave me her hand to kiss,
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49,

(7)
Which part of speech is ‘Happiness™ ?
(A) Adjective (B) Noun
(C) Verb (D) Adverb
*The Empress came to the window smiling at me.” Here ‘smiling’ is
(A) Noun (B) Verb
(C) Adjective (D)  Adverb
‘Being free filled me with happiness.” The sentence 1s in
(A) Present perfect (B) Past perfect
(C) Pastsimple (D) Present simple
‘I had to lie down ...." The sentence is in
(A) Past simple (B) Present simple
(C) Past perfect (D) Present perfect
e she gave me her hand to kiss.” In this sentence the determiner used is
(A) she (B) her
(C) to (D) me
‘It was charming just like a big doll’s house.” In this sentence the determiner used is
(A) just (B) like
(C) a (D) big
‘Freest’ is the superlative degree of
(A) fire mam (B) freer
(C) firer ¢ (D) free
The tarmer tastened the bull tightly to the stake. The correct question for this 1s
(A) What did the farmer do ? (B) What does the farmer did ?
(C) Why did the farmer did 7 (D)  Why does the farmer did ?

To free the slave, the chains .
(A) being removed (B) had been removed

(C) is removed (D) was being removed
The convict by the neck till death, was the verdict.

(A) i1s to hanged (B) 1s being hung

(C) isto be hanged (D) s to being hang

P.T.O.
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53. ‘She said to her son, *What do you like ?” The indirect speech of the sentence is
(A) She asked her son to like.
{B) She asked her son what will he like.
(C) She ask her son what he liked.
(D) She asked her son what he liked,

54, The phonetic sound of the letters underlined in the word *together’ is represented by the

symbol

(A) d (B) 6

iy o (D) d3
55.  Which is the correct transcription of *question” ?

(A) 'ku:s Jon (B) 'kwestjan

(C) ‘'kwu:ln (D) ‘'kwuschn mom

s

56. ‘Learning is made stable and everlasting’ 1s a merit of

(A) Bilingual Method (B) Structural Approach

(C) Direct Method (D) Communicative Approach

57. ‘Priority of Reading’ 1s a principle of
(A) Translation cum Grammar Method
(B Dr. West's Method
(C) Structural Approach
(D) Communicative Approach

58. ‘It stops power of thinking freely’ is a demerit of
(A) Bilingual Method
(B) Direct Method
(C) Translation cum Grammar Method
(D) Substitutional Table Method

59. Bilingual method includes
(A) Translation by teachers only to explain the matter.
(B) Insistence upon reading only.
(C) Insistence upon writing only.
(D)  Optimum exposure for discussion,

60. The receptive skills comprise
(A) Listening and Reading (B) Listening and Speaking
(C) Reading and Writing (D) Reading and Speaking
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Wlg - 11

HTeT — 1

HEFTH

a3 fowrq s |l |
qd Y91 GHIHAT: |
frefafigay smarforerre yq@ e wafd -
(A) faamermraTy (B) TEEH
(C) TEATEAHRT (D)  SfeFepymony
Tl T GV~ MTI0T - TS - HITTAMTS GeATgH oy T -
(A) HrRgeratiea (B) feafgamdiern
(C) Tre=ersrudiermn (D) WSRO
1 witen e, safusht, SaragriEnt, Toagn figern = wafa 7
(A) STeATRTaE (B)  wroraieqy
(C) axgfsaien (D) =TRSO
i e T
(A) e (B) HeATgH
(C) HmvE (D)  FHATHUH
(C0]

FETETOH S el R fereorams syt - é‘%@
(A) HATHI (B) Ty
(C) =HATHIH (D) oz

Freferfigan smfed memen snurises 9w : (36-40) gETEAT: -

méwaggmﬁgﬁm | fafauumiaafam: amrammni. 591 3= faaf IFﬁ'Ei'WT:
wrdaT: Tew wfd gafian: i< | s afaad guerfy add | fags fafy=n s s
FTTE TR |ATAT: | WA TR ST Jr: Eed: I 39ed, | S TR
SiTa-ATcHeh, dairaa TE faaer et T genyd |

“E@@:"W%:Hﬁ]: Y
(A) 7] —afer: (B) TmI-"fA:
(C) zmfe-af (D) <r-af:
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“H|Edar” gﬂ'ﬂmﬂ & 7
(A) &9 (B) Hg
(C) #1 (D) w3

“HATed™ e Sead: forerd -
(A) 9 (B) vaq
(C) =g (D) =

“ AT o3 1 faafad: 7

(A) et (B) =gt
(C) T (D) uHl

“ITe T T aad || e arel fersrorg forerd -
(A) WS (B) gAY B30
(C) =g (D) add Bl

freafefiaam srafed merem snueer smfafaa: ywm: (41-45) Famea:

TAPAH T TauE afe | s e fmiv s wafie: e | s
mﬁmﬁﬁ@ﬂﬁmaﬁmﬁmmﬁlﬁmmm—m
uftrgy | 7 e o erardted aae gaven i o A e aear ferarsie |
Ted 31 TACH: GATTDIA |

“HENE: " 504 <b: UHIYE: 7

(A) &% (B) reudtamE:
(C) HHITE: (D) &
g 3o afafaese: faad -

(A) ¥ +Td (B) #g+ud
(C) @a+1d (D) §E+Ud
AT 30 T e -

(A) Zrar=iaT (B) 3T
(C) T (D) BT
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“geferpr: fy afear: waf<" | seafom are fasrsgey sif -

(A) 1 (B) waf=I
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e e Tt wgrost: safds: st | o Tartga e wwn: aift -
(A) g — oThl: (B) d@g-cihi:

(C) A-eThL: (D) ©-THI;

“HTa1 HieH Tl | THRIE 6 -eTh aiEaad -

(A) Tl WIsH geafd | (B) WAl WIS AT |
(C) T HISH U | (D) AT HisH U= |
“44” wAl e §EpdA feraa -
(A) ST (B) =it
(C) deani=ediiarg (D) ST
TR U YRR 3. add — %@
(A) T, 3T, 30 (B) T,T, 3,30
(C) © 3,3, T (D) U, 3T, 30
HEheA ST FHod —
“ foan < =\ wfee d mar
(A) T3 firm a8 nfew sres | (B) A: fien ug nfgoy anr=aq |
(C) 13: fam wreh wfeet 3rT=s: | (D) YA T |z wfet ifersafa |
HEp AATE Foe -
T A <hl T&7 BT |
(A) T4 T3 Uersafa | (B) U TaE T hivsafy |
(C) T4 T Uersafa | (D) T o=y Yersnfa |
s e —
“378 o ° TSI |
(A) 318 @ 9 93Y: | (B) 38 wd 9 Yaq: |
(C) e 993ME: | (D) a9 Uiy |
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RECIEEE T
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TEnfgare swafamiv $%d -
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SECTION-III
LANGUAGE-1I
ENGLISH

There are 30 questions in all in this section,

All questions are compulsory.

Choose the correct phonetic transcription for the underlined sound of the word : Call
(A) /kaM/ (B) 7kl
(Cy /kael/ (D) /keml/

Which statement 1s not correct about communicative approach ?
(A) It is practical in use.

(B) [Itissituational, meaningful and self-rewarding.
(C) Itdevelops the speech ability. mm
(D) It s teachers centered approach. B g

In structural approach the word “structure’ relates to the structure whereas ‘approach’
stands for

(A) Going away (B) Coming near

(C) Sincere (D) Intelligent

The teaching which is needed for the students who are in general backward in studies and
fail in one subject :

(A) Remedial teaching (B) Advance teaching

(C) Classroom teaching (D) None of these

The process of finding out the extent to which the desired changes have taken place in the
pupils

(A) On line lectures (B) Evaluation

(C) Co-curricular activities (D) All of these

An important part of any evaluation in which the teacher should prepare a record sheet for
each student indicating the different skills to be tested 1s

(A) Record keeping (B) Notice book

(C) Class teacher diary (D) Monthly attendance

Which one is not a type of digital portfolio ?

(A) Developmental (B) Reflective
(C) Representational (D) Occupational
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Passage (For Q. Nos. 68 — 74)

Non-biodegradable plastic is one of the prime targets of environmentalists across the

world, but, we, too can make a difference — by spurning that plastic bag for cloth, by buying our

acrated water in glass bottles instead of plastic, by demanding glass milk bottles instead of
plastic pouches, by using that sheet of paper on both sides, by recycling vegetable waste and tea
leaves as manure. The media can also play an enormously significant role in this respect. It is

not difficult to make a beginning; it is far more taxing to sustain it. But the payofts of sparing

just a little thought to where our waste goes, promise to make it worthwhile. Sometimes you see,

waste can kill.

68.

69,

70.

71.

72.

73.

74,

One of the prime targets of environmentalists across the world non-biodegradable
plastic.

(A) are (B) s

(C) was (D) werc

We should carry cloth bag plastic bag.

(A) despite (B) inspite of E EJ

(C) instead of (D) as (Eoat:
Common man media can play a significant role in this respect.
(A) whereas (B) but

(C) aswell as (D) though

Vegetable waste and tea leaves recycled into manure.,

(A) was (B) is

(C) canbe (D) if

Small etforts can a big difference in reducing plastic waste.
(A) get (B) make

(C) made (D) take

The most suitable title for the passage is

(A) The urban life (B) Waste and media

(C) Waste management (D) Pollutants

[n order to reduce plastic waste, plastic pouches can be by glass milk bottles.
(A) used (B) replaced

(C) stored (D) none of these
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80.

81.

(45)

“Slithery, slidery, scaly old snake.”

The literary device used in the above line is

(A) Simile (B) Metaphor
(C)y Alliteration (D) Irony

The literary device present in the line “I am as quick as a cheetah”, is
(A) Satire (B) Alliteration
(C) Hyperbole (D) Simile

“Upon a nice mid-spring day

Let’s take a look at nature’s way

Breathe the scent of nice fresh air

Feel the breeze within your hair,”

The rhyme scheme of the above line is :

(A) AABB (B) ABAB Eas
(C) AABA (D) ABAA Ol

“All the little corn flakes were so excited,

They were getting to come out and play.”

What is personified in the above lines ?

(A) All (B) so excited
(C) com flakes (D) All of these

A mournful poem, typically a lament for the dead is called

(A) Drama (B) Comedy
(C) Sonnet (D) Elegy

The literary term used for a poem of fourteen lines using any of a number of formal rhyme
schemes is

(A) Short story (B) Sonnct

(C) Elegy (D) Allusion

“Who knows why the cold wind blows !”

The literary device used in the above line is

(A) Personification (B) Hyperbole
(C) Assonance (D) None of these

[n the lines given below the literary device “Metaphor” is used in
(A) Betty Botter bought some butter.

(BY Ascold as ice.

(C) A host of golden daffodils.

(D) It is the cast, and Juliet, the sun.
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88.

89.

90,

A genre of drama based on human suffering and, mainly, the terrible or sorrowtul events

(46)

that befall main character is known as

(A) Tragedy
(C) Irony

A “Fable” is an example
(A) Rhyme
(C) Sonnet

(B) Comedy
(D) Autobiography

of
(B) Short story

(D) None of these

My father swim very fast when he was young.
(A) can (B) may
(C) could (D) must

Choose the alternative which best expresses the meaning of idiom/phrase given below :

“No Pain No Gain”

(A) You have to work

tor what you want.

(B) Wait for the right time.

(C) Take care of your pains. & E-",

(D) Do not harm others.

“To avoid talking abou
above meaning is

(A) Hit the sack

Ol

t what is important” the idiom/phrase which best expresses the

(B) Up inarms

(C) Beat around the bush (D) Sell like hot cakes

Choose the correct phonetic transcription for the given word : *Thin’

(A) /ti/
(C) Jon/

(B) /Om/
(D) /dev/

Which of the following contains the same vowel sound ?

(A) tell = bell —cell
(C) put-cut—cute

Find out the word which begins with difterent sound from other given words :

(A) High
(C) Hire

(B) know —now — bow
(DY All of these

(B) Hike
(D) Beat
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QUg - 111

HINT - 11

A

3= Biwa e | |
T YUT: FETHAT: |

grhata yfd ey Fegeaend feeso wwfly -
(A) TIEATEAHE IATHHI ara-H, (B) fafau-miafas-nfafasfimmmiemg
(C) "&pad: RmEmIaeReE (D) HisTregAmdaETy
TEHATIEv AIETRA (HT0R ) FUH aad -
(A) FHEETEH (B) SSHHTEH
(C) FTATETATTH (D) Fermf =
TGP 1Y higell VIrd_ ?
(A) Fonarepmon FrraERy (B) <T@l AMRIATTERY
(C) AfremIicon Ararararey (D) ST AFTATERH,
HEFATEVRE Jearg SeT: et~ —
(A) FHIcHhI: (B) HIATcHI:
(C) Teraremer: (D) Swefsr-Forfo:ag: wwrgy
TR0 ITARHT <hIgy aq 7
(A) STEETER (B) HEATEATAT
(C) STATIREITTERH (D) FUFTERREITERE
(A) TG (B) THURhIgIed
(C) Havrehtsiay (D) UEHITEg
faTTegATY, I, JaATREN, GUTSAATERIH], JEAHTEMHTA T8 &: fafer: Jees
wafa ?
(A) AR (B) =TEtafy:
(C) wcaafaty: (D) it
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senferfigd smfed mermsm anerie SUAT: (68-72) WHTERT: —

68.

69.

70.

71.

72,

HY T A i v e | igaHeEdr: d Al aq 9adsieHTd g 9
g T | AA: ST TS M: YA 310 foeRl @ Sen: aesEn: ISR e |
qA Ueh: 98: HlaE=e: 99 gt faafa w1 |

B}
“eEISitaT” $eaa <l fersfa: 2 ﬁ;
(A) e (B) =gt
(C) Tt (D) wHt
“OTCdel:" Fod=l h: IoIdd: ¢

(A) FAAIHE: (B) FUH:
(C) A (D) WA

“ferml gou= &% ITE: 7

(A) fergg (B) ¥d

(C) 3 ) fa
iR s afufaese: wiftq -

(A) <ff3 + Iugan: (B) <A+ Iu&dT:
(C) < + FATE: (D) TG + g

" Ueh: AW: WaH-g: am Tt fFaafa w1 1 3 o foesane fem 7
(A) (B) #mB:

(C) TH: (D) @t

frafaftgd vetten suripe Fefear: 3o - (73-77) |uTea: -

73.

ATl TAH] FH=d fdeTeh g aayadHd]

aﬁ?ﬁwﬁwﬁﬂ ﬁ’(@'ﬁ'ﬁ: |

Tt GHaRE-HAferdn =l gt T

dron fagus A=At qomTg HUsiiE 1|

e verres T &g waam 7

(A) wTEEtashifeay (B) a@=faeiel
(C) wrfert (D) TR
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"m@jﬁ:"muﬁﬁ—ﬁ%ﬁa: STFE-H =
(A) ot + digfi: + ot (B)  #fieli + spEp:
(C) fiefis®: + 1o (D) el + gfi + ot
“HZUI” $caH h: GHTE: 7
(A) TELE: (B) wgsitfa:
(C) egtvma: (D) Z=%:
“F” 50U h: Tedd: 7
(A) =19 (B) @] —
(C) ddq (D) =it =i
(A) dfcersy (B) wfifagg
(C) ATEehicTEH (D) wafers
“44” 3HI HET HEHAA WA forad —
(A) dgecaTia (B) Sgecariizm
(C) =gt (D) =gTscaTiiad
“TW: WTd: (7:30) e fernerd mesfa | wEifed awe wepd forem -
(A) HIRHEwETE (B) UeHHwded
(C) TrefaaTed (D) WEHTEETE
HIEvaERy Jrgavi: Hid wfd 2
(A) =geH (B) e
(C) T (D) wEIEH
“TH Tl | I[E 811 & | 3T A HEhaan: e -
(A) T gearq gpeafa (B) o we yeafd
(C) ¥ ¥ yeAfd (D) ¥F: 9 yeAfd
31 e TR IR -
(A) T=iEe (B) FU3IET
(C) =Udrdq (D) ifih
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m:w:mﬁ:aﬁ_
(A) d1d49 (B) 2a9H
(C) 1%9H (D) = 9A

“3E T T | e AT JreAiEcH $ed -
(A) o 91 gAY (B) =T W1 q9AIRT
(C) & w1 g7 (D) 378 T vty

“H: TRE YV | TRl e -
(A) ¥ 7% wormfd (B) ®: TT&d urmfd
(C) |: TR womfa (D) |: 7% WHTH

“378 & Faee gty | are geiyad -
(A) 318 & fosae qoanfy |
(C) 318 & Tasmeq goanfy |

(B) 218 &: feauea amawm |
(D) 48 &: Teauen am9em |

ST wef=i | wgferaed feed™ g | @am
(A) TT: (B) @ [a%mf
(C) iy (D) SrTom:

TSTETTfaeRTar famrey. S e W vafa & ¢

(A)  ITIAEERIEY (B) hIAT<THERTICHY
(C) Tarsuepremy (D) THTEGTEHRIG T
(A) Feafaf: (B) weaerfafe:

(C) eAmHT-Fgerefafy: (D) Tazeromemsfafy.
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ARy afmael wirsafa qred fesra wdwsr gof 7 afsfa 12 @ oo i

A Ave’ scafam geaes A ferfigay 7
(A) TrEengeH (B) &TeeHaGEH
(C) dHHERE (D) HHEEAGH
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(A) T[cH H IR (B) SfoH HgW arl
(C) 3t (D) mieh
37l T = gt afset 3 e |

(A) TEd (B) T
(C) wifrad (D) e
“Tefl HEehR S 3T J=11 11 el 994 | Te fge 1 arefsr amg -
(A) dwiE (B) ®U®
(C) a=HE g6 (D) gefew
fer wpferan 3 it T i et -

(A) W& Sfi (B) femmar st
(C) Tawms S (D) Uehar S
o Jratai 3 e srdde d wiael srer g o -

(A) ¥ (B) =

(Cy 1 (D) @

‘gt il fowa o ae 318 -

(A) T (B) SR
(C) WIS (D) afide
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83.

84.

85.
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87.
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89.

90.

(58)
T+ off T 318 -

(A) Hgri (B)
(C) =l (D)
et it g e -

(A) T (B)
(C) HAMTh (D)
e AMfeg U 21ag M3 AN §%d J 3178 -
(A) #eR (B)
(C) =g (D)
aferlt’ e St fofm gorert 3m2 -

(A) =BG (B)
(C) =HU (D)
g g wiig 1 Tl e -
(A) e (B) 33 (C)
a U agf ag fafigst o -

(A) HHERT (B) Tiawm (C)
~rimrer fepemy ufesat 1 firmmer 3@ -

PL-1

EERY B

gt (D) g

fasta (D) @

(A) WEd @t (B) WEq TG

(C) gel gaaTaH (D) W3] Ahd

fawa 3redt S freme ag -

(A) T9 Gfavit Sifwt 32 | (B) Higa afe I e anfzi |
(C) & av feat anz | (D) Hfés w5t gal 2 |
ferararst firmmer ame -

(A) ¥ Y (B) s @y

(C) T T (D) 39 9E3

w1 fergor it ufefEl Sioe 3 -

(A) U (B) 9T (C) TeERY (D) feram
(A) fered (B)

(C) fedi (D) foart aie fadh
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64.

66.

67.

(39)

s — 111
g — 11
At
ferd3 e 98 30 yas I3 |
A9 YHE 96 wgdt I8 |
Ho 96 ot fermsT 9
(A) feaaefds I RE-wifmis S gaT | (B) AT uH-uw g =95 9957 |
(C) ¥F-TIATHEAIE | (D) T 3 e wirew T TS J96T |

faudt miardt & wa It wa 39 fast wiemw o3, »iay gfae ags & fafon fam =g »fts
W@Eﬁﬂ':

A) Eftews (B) afegrard

(C) 3sadtg (D) W&T95

‘Hes ans” fEa fafum o Gen 05 -

(A) Tefenrgdi g gos ot o9t Gz a9 | g‘%
[r- e

(B) w3y gfas 995 &1 Garz3 §3UE 957 |
(C) =T HEF= § AHse dt tarzr feafha s |

(D) Gudazs wra dt

IR frfem 129 Ao od 42 OUe 9% ATUST ©F Fdt He 98 ;
(A) &, IFG (B) IFHE, oz
(C) Tz, ZaH (D) IFE, v7e

8¢ 9307 4 337 A9 Y=afi3 Ios TB W3 ol AL Ia :
(A) =fEes a3 (B) #fizetray
(C) JIdI3E33 (D) f&Bx 8393

“Ags fI9 3% fefonradnr ¥ feegmo ufgeass © Heu fSe el © Hags 3 Gaa' <t fenrfimr
55 dt yfafon  waias affe 95 1 feg ags fan feees @79

(A) I=TBS (B) =ags
(C) W (D) vt

IS AT e Afosa I 3 fengrays=a a2 fad ;- yms fan ydtfipr oraua 3

(A)  feaa3fiya udtfipr (B) =A3fers udifmm
(C) ugre ydifemr (D) et & &
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(68-72) J& fBd Ug g ug A yra 399 68 372 Ia v §3a el :

HIYTH' & T3 © A8 Ay 99 &30 My fageft afemr & »rfipr 3 1 ug ot »mug rdle &5
WIAG, Wﬁmn@aafea en E UEEs W BH I TT | I2T & 393 & ERF HEH T
gfge-Afae Gar it | WEY & & g3 & Tl &7 A1 & | 9093 56 2aS It fonrad fantdh
o AET J | qea3 gt Ot efeerers afidt 3, 3 S fovmizt yes aet I | g, udt St AE Afles
WTg I& | G293 5% Aot 3T a8t 99 &1 I waer | mdfle & wfos madt & & i & | fidedt fia
2y t fimselt I | 9o o g g  fa g 05 O filed 3 9% ot 05, &t 3t JoraHs weET
f&a ot it 3 ufost ftedbyt 3 g9 g e |

68, ‘€t e o fedftnEe 9,

(A) &M (B) fearm
(C) e (D) fezm
69. ‘TfoWTE T AHE IS HES 9 ¢
(A) a3t (B) fenrg
(C) afgges (D) I3
70, “H'T WYY T HPHIEA He I
(A) HI3, Ha9 (B) wd,3H
(C) ye=3, fag3 (D) 93, miwe
71. {39 mae o S 596 ¢
(A) HIBT (B)y =W3
(C) wAS (D) dr9g
EfE
72. ‘I HEC T HILIS 9 e
(A) w9 (B) T==i
(C) &3 (D) Jwwius

(73-76) I& fod Tfe-S S UF I YAG 699 733 76 I3« G396 : -
A Yad B8 A< |
WS HT Ol 72 |
T GR s I = few g,
TAHH A A< |
IHH & 7= |
73, afe-de i fande ATt imadt T 2
(A) Syt (B) &&=
(C) %3 (D) ==Eh
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74.

76.

77.

78.

79.

80.

81.

82,

83.

(61)

Sudas Frfe-A39 < YA <9 fan Y -Yfiar = faee dfenr dJ -

(A) da—-aw (B) &B— WA
(C) FHt—U& (D) 3-89
T HEe I ftg= g 2

(A) &dd (B) WH=gdr
(C) ¥#a&3 (D) sfgHsz
fog gfe-fewd fan Ffe-gu o fdA 9a

(A) adt (B) =9

(C) HIEH (D) foAT

Ut ga S5 €, wi, v, fad fad =ga Js -
(A) fenins (B) g=Jar &t
(C) fonivs == (D) AT

‘8’ 95 & 9SS 2 fan =aar fu 2 fam T

(A) <=ad (B) &5 =aar

(C) I=dar (D) WY <gar = lg
s

UAT AT fonads 1e9 a8 Saryg J& 7

(A) f35 (B) &

(C) =W (D) T

DBwygi gy dAfgorAaerd:

(A) Ze=R g (B) #3<# WIS g

(C) TIsniug (D) FESnfeg

TR-3, ¥FaT, B9, 93T, mue Uadt & fagdt Qusm s s Hafis 76
(A) W=l (B) Sardt
(C) W=t (D) gt

(A) Tiasar (B) u&&de
(C) =fssr (D) #3ug

(A) H¥HBE=, MHB (B) fods o9a 32, niTHE9a 67&
(C) F=TTEE=, HASE (D) IAZ-TIEET, HA ST
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85.

86.

87.

88.

89.

90.

(62) PL-1
o= mee & s wee f g7 =9fwr a2 U9 55 ft B 38 a9t ye-fae diFt v, Gruasi= d
Jfde Ta :

(A) Weue9d yIs'e (B) forde<duza=

(C) YIHIT I YIS (D) YHEITYS UFE=

o wee fai sie 7t uzste ree 9 fiusst o farrs 92 On felme s faar v 3
(A) ufgweed feims (B) u3a=tfemmes
(C) wimrega femms (D) fomgeoa ferme

Urreft g fET fenfua faw b €3 fegge g5 .
(A) HEEUUd3 (B) IHUGT S

(C) Guea g3 (D) Busas fisiquat3

‘BT B ¥SH F96T e HI 3T THHST &7 U=’ Y HuaS UAd J ¢

(A) 3TH (B) 3 E
(C) 3ia (D) T& W
yafentt Gug fover fadft 7

(A) &<s fedfta (B) wa3&fafia

(C) wrafse fedta (D) wf3-wgfsa fedt g

A fifepor @ mog wEt Aft Qumon 9= a9

(A) 3l 3 Qugrarstua fifumt arydy adf gga ardter |
(B)  IAftet fAfimr wifsmuat en Hegs 33 fadt 3

(C) 3t 3 Qummgrsfia fiffimr or Yo agsT odter J |
(D) 3t 3 Qumrarsfua fAfor Aot B3 st T 1

T REfea WIE J:
(A) B fouHI U IS E&T | (B) da7 v fauH3 U EB A" |
(C) "d5ausI | (D) HI& T HST |
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61.

62.

(63)

-

w$ — I
UL — 1T
erzidl

L VISHL $EL 30 WAL,
€38 WAL orellol AL 53 [P 65,

[R1ats-1L 531 4R 0I5 2B HIAL Sl RS BIRL MU ¢
(A) AHlrsa (B) Aawilzl
(C) vdue (D) M&td

Azl 56 wgla-l Gt cuszel Ristel M2 s34 AR S 7
(A)  su-uul vgl (B)  WAHIR ugld
(C) vt wald (D) 2[R wgld

slefuel wzlats szl Gzl wsiRl, el WEei 53 d AHIA Adal 1ol dL a4 54l 51121 s€l
ASIL ¢

(A) 0 5321 (B) Uil 5112l
(C)  [ama-la sui?l (D) @icHazil s:Zl

64.  Bell USIRAL WHIAL v ellod Ass] izl [Aauldl, Wil 21 wirslldl vncue 3¢ 6 7

66.

67.

(A) 251 Gz UsIR (B)  <zdaail Al
: . - - EE
(C)  [Aoteucus uxll (D) GuRlsd dun 2o

Azl @l 24l 23 UL S1AL AL 2L 20l ¢
(A) (Aot (B)  AlcHS2L
(C)  2Hdd @i (D) -l

2UOWHE WAL WL odls, [zl auld szell Ry elue 5315 d sl e 2 séar 9

(A) ML (B) =iov-llsdl
(C)  ddiel (D) [sulzst

-

GUMLAL U061, Ly BRI SEL 2 d HIZ OUSERA 58 U pieAfs Ut 2l szl ¢
(A)  esefeed Ul (B) [Aota @
(C) 24am (D) @iddie
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(2L 2ULLAL DAL M3 1AL 68 2] T0-L vellet AL :

arwiRel A, AN 24 Y, ARS DA A WA B, SRIRIRA sl £ szl

%37 45, AL W2 UHY MU 2l 3R 8. ALEL A WHIBLS A Hetd 20U NTB. HdAaAL ¥
2l M-l 22 U5 53l DL RIURA A M2 555 SIAEIAL SSAHL A 2 DA 555481
e A, SRR 2USIHL 2055|121 dl o clsl SRR S3cll $38L. Al ulduzl 22 dsen

2, M2l ol s AL,
68. crwizell 2wl sl Gald 2w s v
(A) WA sRELAA . (B) 2wl [asid 2 6.
(C) =%, Mt 2 5. (D) Rwgef Alds v 4 5.
69. ‘sen’ -l u sl sl
(A) e+ 564 (B) UM + 564 EAE
B
(C) dH + 564 (D) A+ s O
70, GurALlA ARl 53 2lls 2l usix ?
(A)  GRIRAR 61l (B)  GHRIRAIZ DAL
(C) SRR €| (D) urulels oyan
71, UG SIEL A B MU 77 A A USIRA UM S ¢
(A) S U (B) A&t Ud-m
(C) AR A (D) &5 AdA
72, “aHul 2uzel 2ruz wild sodl 0l sl [amet AlR-umipl 535 0
(A) MGl (B) 4R
(C)  wuedl (D) el
73, Guz, A, 4%, §3, BUHMIA DR 106 sl (Bl e ¢
(A)  3&HUXUS (B) s
(C)  HHAAS (D) HERS
74, AR s s woad Buapl avidl s ¢
(A) Al (B) a3zl
(C) uzsel (D) uRlks
75, Al-umizll 585 dsl PAsaUAHL Y UANU 5 ¢
(A) @il (B) SlGldlEl
(C) HLA (D) =l
76,  GUMIHL 5265 AT ARTANM A HI2 DRI Bigra 2] g 7

(A)  euldzd (B) @tddRel R
(C) 23ER™ (D) aid BagA
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78.

79,

80.

81.

(63)
‘U AL 5SL 5l MBL A Al (sl 212 s AL AL AL USIR il
(A)  Gorradl ey (B)  %au WAR{ 214
(C) AR 2y (D) 2eedp(l 2y
‘ZLel. el old 53 . AL Al s WsR 6 ¢
(A) [l 2 (B) s i
(C)  =stel dud (D) usE A
‘Al 2os-AL 2g AevRIcl 2i] AlRAMil 541 6 ¢
(A)  duzl (B) sl
(C)  BcAR (D)

L2 AU ML AR WA 024 80 20l 81 el Bz vl :

£5et HNEL A £5iR WL,
IUE el 54l ?
UAAVLS A LA HNEL, s
2L Wil 54 ¢ e
Rl HNEL, 2L gl
zled il 4L ¢
2UIE, YR A ARLHOEL,
AL HIHL S4L ¢
UR, e A Adlld ol
2§51 WAL 5L 7
AR GLH2 e, detl
Sell el sl ¢
HidlAL 2650 W 51l [daud 2 ¢
(A) YR, diet, 2ild- (B) 215 ¢R sl2u-l
(C) %l i 2L (D) s B yzov-dl

‘AR GlHE He, Sl dell Hidl sl 27 saMl U Uos L1 USRALE ¢
(A) dcm (B) dgei
(C) 2iroil (D) szl
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84.

86.

87.

88.

89.

90.

(66)

DR, dAl, LA FAL LUCEL S USIRAL AL AURIA 65 7

(A)  Goru-adl (B) «esapil
(C)  3am vl (D) Balaamel e

Al 52 oo e [Fsig R Al e 243 53 6 ¢

(A) gl (B)  AldlzEl

(€) [dasll szl (D) 2™ Ean
O 5"

B2luseL B wAee Al 5.

(A) [Rieuem (B) el

(C) (D) =il

1xeL 1 20l SHL sie [z W 58 ugld gm0l usi ¢

(A) lla-=Alea vgld (B) wielollx ugld

(C) datusld (D) satusgld

s HL [EzuelALAL Wi 52 W2 521 Slaei-Al By s

(A) Agelsral slacy (B)  [wauleinm Slaen

() usmaléa sluex (D)  SLML Sl

56§ il UNsHL W YesaliAl GHR” dxls WL 2ATHAHI DU S 7

(A) U 24932 (B) ozl
(C)  dReusRa (D) ¥zl

AR 52 UinA BRI AU S ¢

(A) s¥4R (B) 2u3sl8%

(C)  AdHIA4A (D) sAYRds

AAAL HEAI5 HIZ GuaL(l A 5.
(A) SHHIMES (B) “gA\3cts
(C) Gz Al (D) R 28

AR P AR @Bl 5 % 0

(A)  Huyw 9l élg A=A,

(B)  [euallAiAl oyl briql [Asi 53 ddl susH.
(C)  [RznelleAl 2yl cudal HEE3Y 2l A,

(D) WEHYRAS ALNS-L SPIHL 3% g,
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SECTION-1V /@Us — 1V

MATHEMATICS /Tford

There are 30 questions in all in this section.
All questions are compulsory.
HEEHHAIOTHS |
welt yom arfaamd 2 |

91. “Music is a modern secret exercise of the subconscious mind of a human being related to
the numbers of arithmetic.” This statement is related to which value of mathematics ?
(A) Intellectual value (B) Cultural value
(C) Artistic value (D) Social value

~griid HTE o 3ra=a- 7 w1 ST ht S O Traf-i v 3y T w2 | 9
Y T = ford e A grafud 8

(A) wifgs g (B) HTEhferh T
(C) HARHS God (D) |MIH o

92, RICE is a rhombus. Find the perimeter of the rhombus according to the given
measurement.

EAE
]
[t
|
oy
R
(A) 20 (B) 28 (C) 52 (D) 68

RICEQ%HW@@,G!% | 3Tehfd 3 TEU T #19 % SR W EH=q 1 afed J{a Hif |

(A) 20 (B) 28 (C) 52 (D) 68
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“Mathematics is a mirror of civilization and culture.” Who gave this statement 7
(A) Locke (B) Galileo

(C) Hogben (D) Roger Bacon

“TITOTA WRAAT T FEp 1 GV 8 | A8 H R feam ¢

(A) (B) Tefifer

(C) @A (D) TSH s

Which method is based on the principle of *To observe and learn™ ?

(A) Inductive method EAE
E]%?

(B) Programmed Instruction method

(C) Laboratory method

(D) None of these

“forfteqor A ot HiEr & fagra w e 6 faf sraf@a 2 ¢

(A) 3 fafy
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95.  Which system is not applicable for mathematics teaching through playway at primary

level ?
(A) Montessori (B) Kindergarten
(C) Dalton (D) Lecture

mAfhs W W Ewd-Ea 4 it foe s fore e srawen awp A g g v

(A) Tiewdt (B) fiheuméa
(C) sleed (D) =arREH
96. The purpose of diagnostic testing is DE D)

(A) To find out the efficiency of the teacher.

(B) Developing different skills of children.

(C) To improve teaching and learning process in mathematics subject.
(D) To examine the suitability of teaching methods.

FrgrTene wew w1 Ry 2 -

(A) Toreger it SrdgpTeTal 1 U ST |

(B) arerehi o farfi= shteredt w1 fasr e |

(C) Tifvra farwa &t 21%RA va 31eTTE sk 3 gUR & |

(D) Toreqor fafer <6t Suaar i Sifa e |
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97. The best appropriate method for teaching the area of a circle is

(A) Inductive method

(B} Deductive method

(C) Lecture method

(D) Laboratory method

T 1 &A% TEH Hi FaH IR a1 2 —
(A) a3t fafu
(B) T fafsr
(C) =ureaH fafy

(D) wanTITe ferfes

98. Slide rule is used in Mathematics for
(A) Multiplication and division
(B} Angle measurement
(C) Make the shape smaller and larger
(D) Measurement of angle of elevation
niferd & TEE FeA Bl YA Bl 8
(A) TUF Td ISH  forg
(B} %197 419 < feru
(C) MTpfd i Bt a =81 4 & forg

(D) I~14 I A1 < feru
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99. Making tables in Mathematics comes under which specific objective ?

(A) Skill (B) Application
(C) Understanding (D) Knowledge
wifira § groft g4 fora fersiy 38va & srarla s 2 7
(A) (B) s

(€) @ (D) T

100. Which of the following statement is not related to nature of Mathematics ?
(A) Abstract elements are explained in Mathematics.
(B) Area of generalization ts limited in Mathematics.
(C) Mathematics is a universal subject.

(D) Number, places, measurement etc. are the basis of Mathematics.

o & & B A e i T el & wafa @ R 7

(A) IO H 37l el i s i S 2 |

(B) TfTa & A=A 1 & Hifua 2 |

(C) Tifora ueh mrEwifies fawa 2 | B

(D) HEE, T, A9 3eamte e & 3Tumn E |

101. The word “Curriculum’ s taken from which language ?

(A) German (B) Latin

(C) Arabic (D) None of these
e, “shiigperd” for ame @ fern e B

(A) SHA (B) wfes

(C) 3mEt (D) 39 ° IS T
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102. [n which of the following alternative 500 is not the place value of 5 ?

(A) 2569 (B)y 6529

(C) 9256 (D) 9562

fowt 3 @ & farepen 1 5 o1 v W 500 T R 7

(A) 2569 (B) 6529

(C) 9256 (D) 9562

103. Which is the correct numeric form of “Ten lacs twenty thousand three hundred five” 7

(A) 1020305 (By 1200305
(C) 10200305 (D) 12200305
‘CH ATE §1" gAR 19 91 uiE’ w1 ggl ifes v g EIE
X
Erat
(A) 1020305 (B) 1200305
(C) 10200305 (D) 12200305
104, Make a greatest and smallest number by using digits 2, 5, 7 and 8. Then find difference of

both the numbers. Then from which of the following number this difference is not divisible ?
(A) 2 (B) 3

(Cy 5 (D) 9

3 2, 5, 7 3N § %1 I9AN HE B Gl 9 9 ga DI GEA1 99 | 39 39 G gensi
1 3 517d hifsu | warsd 6 @g arar P 3§ & fosm den @ fanfora wdf ar 2 9

(A) 2 (By 3

) 5 (D) 9
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105. Which of the following ratio is greatest ?

7 25
(A) 3 (B) =
35 19
© 5 (D) 5
o1 1 G i o1 ST wed =T R 7
7 25
(A) 3 B) = E%%
35 19
© (D) 7

106. Which of the following is the correct descending order of fraction ?

1232 3212
@ 3533 ® 3573
3122 3221
©) 32735 D) 3737
frfafiaa o 9 = o = &1 g8 sEudt wn g ¢
1232 3212
(A 2573 B) 7375
3122 3272 ]
© 3755 D) 15733

107. How many Prime Numbers lie between 1 to 307
(A) 8 (B) 9
(C) 10 (D) 11
1 & 30 % o= ferart 3rvTsa Ted st € 7

(A) 8 (B)y 9

(C) 10 (D) 11
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[f a Consequent of ratio 5 : 7 is 35, then what will be Antecedent ?
(A) 25 (B) 36
(€) 45 (D) 49

gfe UH FIAE 5 : 7 1 RIE 35 &, <l IUhI TTG T AT 7
(A) 25 (B) 36

(C) 45 (D) 49

Which of the following is the correct Prime factors of number 420 7
(A) 2x2x7x15 (B) 2x2x5x2l
(C) 2x6x5x7 (D) 2x2x3x5x7

frafafiaa & 9 S o1 5891 420 F1 9E T PHEEE B 7

(A) 2x2xT7x15 (B 2x2x5x2] OF]0f

(C) 2x6x5x7 (D) 2x2=x3x5x%x7

LCM of any two numbers 1s 60 and HCF of them 1s 5. Which of the following are those

numbers ?

(A) 20,30 (B) 10,30

(C) 15,20 (D) 15,40

T2l 21wl w1 ergem wnrvEed 60 # wd HeeW wHMEdes S 2, d frefafea 9 9 g
HEAd HH Hi gt 2

(A) 20,30 (By 10,30

(C) 15,20 (D) 15,40
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(75)

Average of three numbers 1s 40. If average of two of them is 38, find the third number.
(A) 38 (B) 40
€y 42 (D) 44

ot w1 3itEd 40 2 | 3fe 330 1 < gt w1 3iad 38 2, af drad g it
(A) 38 (B) 40

() 42 (D) 44

. 4 men can complete a work in 20 days, then 10 men will complete the same work in how

many days 7

(A) 2 days (B) 8 days

[OF=10]
O

(©) 12 days (D) 50 days -

4 ATt weh & i 20 fe 0w &, dt 10 et 35 s 1 fohad o o g i
(A) 2f= B) &f&
©) 12fe (D) 50

On selling an article for T 329, a dealer lost 6%. The cost price of the article is
(A) ¥310.37 (B) ¥348.74
(C) %335 (D) 350

¥ 329 1 U T Bl 994 T UH ST HI 6% H A S, TG FFI A RR ?

(A) 310.37 (B) T 348.74

(C) 335 (D) T 350
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(76) PL-1
A bicycele is purchased for T 1,800 and is sold at a profit of 12%. Its selling price 15
(A) T1,584 (B)y T2016

(€) T1.788 (D) %1812
T ATSfhet T 1,800 H THliemt 12% v T s 78 i S6ent fosha ea & —

(A) 1,584 (By %2016

(C) T 1,788 (D) 1812

. What will be the amount received on ¥ 3,000 for 2 years given at the simple rate of

interest 11% per annum ?

(A) T2.340 (B) 3,660

(C) T4.320 (D) ¥3.330

T 3,000 T 2 a¥ % forw 1% i arfies wnamor samst @ & feeft amafo s geft ¢

(A) T2.340 (B) % 3.660 g%?

(C) 4,320 (D) ¥3.330

The difference of simple interest for 2 years and 3 years on a sum of ¥ 2,100 at 8% per

annum is
(A) ¥336 (B) 168
(C) T 1,680 (D) %504

T 2,100 AU UF 8% aTfieh hl 20 H 2 a9 3R 3 I oh WYV SATS T 31 FRT —

(A) T336 (B) 168

(C) T 1,680 (D) <504
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117. In the given figure, the value of a is

A C
90°
B« E
[.'
(A) 5° (B) 10°
(Cy 20° (D) 50°
frembtmdawmam 2.
A C
90°
Be E
40° 5a
F D
(A) 5° (B) 10° ® Eg
() 20° (D) 50° Dl

118. If | m? =x mm?, then the value of x is

(A) 10000 (B) 1000
(C) 100000 (D) 1000000
afe 1 @l fiex = x ol frefifier S 8, Al o oA 2
(A) 10000 (B) 1000
(Cy 100000 (DY 1000000
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119, 15 m?is the area of

120.

(D)

A square having side 15 m
3 squares having side 5 m each
5 squares having side 3 m each

15 squares having side 1 m each

15 et Hiex & &

us anf fraeh) e 15 et 2 |

3 ol forerehl wicdeh <l Yo 5 Hiet 2 |
5 ot formeht yedieh <ht ypom 3 diex 7 |
15 =i f5rer seen ot o 1 et R |

Find the volume of the given figure.

(A)

(€)

6y (B) 6y

22y> (D) 9y*

& T3 TR T A T HiC |

(A)

(C)

3y
=

'\."

by (B) 6y

222 (D) 9y?
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SECTION-V /@Usg -V
ENVIRONMENTAL STUDIES / 9 Taiur AR
There are 30 questions in all in this section.
All questions are compulsory.
A EUE A HA 30 T F |
oft g orfamd # |
121. Rabies disease is caused by
(A) Virus (B) Protozoa
(C) Bacteria (D) Mycoplasma
TSt T 1 HTS a1 8
(A) 9=RH (B) WiEI=Aiam
(C) s (D) HEHIATH]
122, Which of the following is the food of Silkworm ?

123.

(A) Mulberry leaves (B) Jamun leaves

(C) Neem leaves (D) Mango leaves

freafafga d a mFr F A IR ¢

(A) e i e (B) T 5 wferal

(C) Fm <6t afe=r (D) W i afaal S 5

Which alkaloid is found in the tobacco ?

(A) Cocaine (B) Cafteine
(C) Nicotine (D) Morphine
AT H M | Ueehalige TRIT A1 8 7

(A) i (B) HEH
(C) Tmifem (D) HEH
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124. Which of the following is not a human source of water pollution ?
(A) Domestic effluent

(B) Sewage

mom
(C) Industrial effluent & g

(D) Humus matter

frfofiga & % a1 st vewor 1 g e @ g
(A) =ie feam

(B) dfedstet

(C) 3T sfewm

(D) eHd Tere

125. Example of fibre which is obtained from animal.

(A) Cotton (B) Polyester
(C) Nylon (D) Silk

S § ST T T IeTE

(A) FE (B) ifeTeee
(C) A (D) tm
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126. What is the main object (aim) of evaluation ?
(A) Maintain discipline
(B) Conduct examination
(C) Question paper setting
(D) Learner’s performance and improvement
oo 1 & I F1 8 7
(A) A ST -

(B) wlien e 1

(D) AferTaeRdl i 3ucifed wa IR AT

127. Example of Rabi crop is

(A) Maize (B) Soyabean
(C) Groundnut (D) Flax

Tl <hl HHA I I &

(A) W=l (B) drme=
(C) et (D) 3T
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129.

130.

(82) PL-1
An example of Audio-Visual Teaching Learning Aid is
(A) Radio (B) Tape-Recorder
(C) Bulletin Board (D) Television

oo — 399 Trequr - ifermm Aol &1 e 3
(A) e (B) m-feapret

(C) weifeaard (D) eefifasm

Which element is not present in child centered education ?

(A) Play (B) Inactivity

(C) Inspiration (D) Satisfaction

e Fad e i PR m A T Aa g ¢ E %
(A) @ (B) fafewmaan

(C) SR (D) @™

[n ancient times messages were communicated by which medium ?
(A) Fax (B} Mobile
(C) Messengers (D) Telephone

grefiAeRTet § Gl T GET i § Jreay F i A7 7
(A) g (B) HiETsA

(C) B@R (D) cATBHE
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How will you be related to your father’s brother-in-law’s mother ?
(A) Mami (B) Nani
(C) Mausi (D) Sister

3119%k firersht 3wt <61 of § 1o F41 foan g ¢

(A) =l (B) At

(C) wrH (D) &&H

. Fuldol fair is held at  https://www.pygonline.com

(A)  Ajmer

(B} Jaisalmer

=14l

(C) Shahpura
(D) Alwar
GASIEA bl Tl Hal ehldl 8 7

(A) 3TIHT
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133. Qur National Calendar is

(A) Jana-gana-mana (B) Vande Mataram
(C) Shivira Calendar (D) National Saka
U TYH 917 @ -

(A) FH-TI-TH (B) @€ qwe

(C) forfer vimrm (D) UYMW

134. Which of the following is the nearest planet to the Sun ?

(A) Jupiter (B) Earth
(C) Mercury (DY Mars
frafafiga @ 9 = @ gd = FFeam 1 2 7 z7m
(A) Fewfa (B) weA Sl
(C) 94 R UG

135. Following traftic sign indicates —

7z

(A) Cross-road (B) Pedestrian crossing
(C) Railway crossing (D) Narrow bridge
=1 fean v g wekd gfitd wtar 2 —

uza

(A) < (B) Ued YR 9Y
(C) Tetel I (D) il gferam
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136. Which disease results into low platelet count in the blood ?
(A) Chicken pox (B) Diabetes
(C)  Amoebiasis (D) Dengue

fermr T < RO R T wigHEy 61 T Y 81 A 8 7
(A) e viwm (B) TYHE

(C) anfiaTufiE (D) €

137, Which Lok Devta in Rajasthan is related to obsecration of Lachha Gujri ?
(A) Gogaji (B) Ramdevji
(C) Pabuji (D) Tejaji
TSR B 1 8 olih ¢adl w1 Ga asl o i mena g 2
(A) TITESI (B) Tmcasi

() Tsh (D) =

138. Choose the right group for means of transport by roadways :

(A) Jeep, Scooter, Boat (B) Cycle, Car, Jet

(C) Bus, Truck, e-rickshaw (D) Bullock-cart, Camel-cart, Flying car
TS AT AT < ATEAT < Tl T 1 gAY -

(A) Sfm, wpe, T (B) HIglhal, B, 3

(C) =4, g, $-femm (D) STl ST, FATS HR
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141.

(86) PL-1

For which community of Rajasthan conservation of forest and wildlife has become a part of

their religious tenet ?
(A) Gunar (B) Sahariva
(C) Bishnois (D) Meena

TSEYM & hiF H GHEHE & [o10 57 Ud S=Ismil Geqor 34e 91fiTeh AISH &1 90T & T 8 7

(A) TR (B) @&t =5
Erat
(C) fawd (D) iom

Which of the following 1s known as *Manchester’ of Rajasthan 7
(A) Jaipur (B) Bhilwara
(C) Nagaur (D) Beawar

frfaftaa 1 9 frae) Terum &1 SRR FEAEIR 7
(A) S (B) Miearet

(C) AT (D) &R

Where Sonar fort is situated ?

(A) Jaisalmer (B) Jaipur
(C) Bharatpur (D) Rajsamand
AR g el fera @ ¢

(A) S (B) SRR

(C) =R (D) TsTEHg
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142. The name of an age-old concept of water harvesting in Himachal Pradesh is —
(A) Surangams (B) Kattas
(C) Kulhs (DY Ens
feuae wew | Siet ToRwl <hl YU TeheAT 1 AT 3 -
(A) HO™ (B) e

(C) %Fez (D) uftd

143. Select Jayanti from the following, which is celebrated on the 13™ day of the rising moon of

Chaitra.

(A) Mahaveer Jayanti

(B) Gandhi Jayanti 5
(C)  Ambedkar Jayanti

(D) Hanuman Jayanti

frferfiaa 3 @ == st g, i o6 3 wra <6 s ver 6 e <6 foa oo e 2
(A) wErH St

(B) et st

(C) ATageht

(D) & St
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144. Suncity is the name of

146.

(A) Jaipur

(C) Barmer

T fepEreT AW 8 7
(A) 9L

-

(C) dISH

(A) 2011

(C) 2013

(88)

(B) Jaisalmer

(D) Jodhpur

(B) eIl

(D) SHUR

. When was Namami Gange Project launched ?

(B) 2012
EaE
(D) 2014 E%‘E".

TTfi 71 SAfET o IR e TR T e

(A) 2011

(C) 2013

(B) 2012

(D) 2014

Crocodile belongs to which class of Animal Kingdom ?

(A) Aves

(C) Amphibia

(B) Reptilia

(D) Pisces

WH, Y1V} SFTd <k fohd Hami 1 2 7

(A) ueft

(C) SeiYeT=H

(B) wlga

(D) "
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147. Match the following and choose the correct option :

Hormone
(i)  Growth hormone
(1) Insulin
(i) Testosterone
(iv) Progesterone
(1) (i)
(A) (c) (a)

(B) (a) (b)

(C) (b (d)
(D) (d) (c)
frfefiga =1 gafera =t

FAuic]

(i) FgawE  (a)
(i) | ()
(iii) TR (c)
(iv) TRetE (d)
(1) (i1)

(A) (c) (a)

(By (a) (b)
(Cy (b) (d)
(D) (@ (c)

Function
(a) Regulation of sexual characteristics in male
(b) Stimulates growth in organs
(c) Regulation of sexual characteristics in female

(d) Regulation of blood sugar level

(iii) (iv)

(d) (b)

(c) (d) E E’e

(a) (c)

(b) (a)
aur we ferehed &1 =3 -

Eae]

T T iftes @& &1 Fana
3t % gfg i e

el § |Affes aevn <1 Fema
Tae H ITeRt] Tt 1 THamH
(iii) (iv)

(d) (b)

(c) (d)

(a) {c)

(b) (a)
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Which of the following come under the abiotic component of the environment ?
(A) Plant (By Air
(C) Animal (D) Bacteria

frfafiaa 4 9 =R waier & s ges & sidid 3 @ 7
(A) HIed (B) 9§

(C) 5 (D) it

When is special discount provided on the price of the clothes made up of Khadi ?
(A) 26 January (B) 2 October
(C) 21 June (D) 5 September
WIEl % 54 FEl i hiAd W a9y %2 wa & A6 g 7
(A) 26 S (B) 2 3Tz Eam
At

(C)y 215 (D) 5 faran

. What is the main reason for the difficulty in breathing while mountaineering 7

(A) Steep slopes (B) Extreme cold weather
(C) Low air pressure (D) Icy wind

TARIEY % S0 HiE T T HfeATs 1 78T w2 -

(A) Gl gaH (B) 3rcafirs 3et drem

(C) H I (D) whieh g
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INSTRUCTIONS / fdw
(Read carefully and comply / &9 & 43 3R wrad #)
IMPORTANT / Ageaqut

[

In Section Il { Language-1) a candidate has 1o attempt the questions of the language which the candidate has selected as Language-in the
Online Application Form.
AU A (AT 1) H oS A F Al F ew Fan atan T s w3 oA | F w3 e Aee - i fEm e
In Scetion N {Language-11) a candidate has to attempt the questions of the language which the candidate has selected as Language-11in
the Online :\pphmtmn Form. The Language-Il will be different from Language-l.
UL 11 (AI-11) B 36 AE we # e wmen st g fr e w s s o 7 = # e e | fe g
Aqre1-11 A1 8 faer gl
The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place
in the OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No.,
;%IJC\TI n Bonklct Number,

omnﬁzﬁﬁufhﬂm ‘]T;&I:gﬂ ﬁs@ﬂmﬁﬁﬁwi|mﬁﬁ OMR ¥z &1 JegiEA

Afew wA-gfern lﬁzqa %, % amEm i fma s

[

i

A

10

Read mmpILtL instructions carefully and fill the details from 5L No. 1 to 7 in the OMR Answer Sheet and 31 No. 1 to 4 in the Question
Booklet. If vou fail to fill the details and sign as instructed corectly, you will be personally responsible for the consequences arising
luring scanning of your OMR_Answer Sheet,

bt an yit = 9 ey 9 o e | @ 7w OMR ofte vd i | & g aw eyl (i) 9 9t ) aft o e wler
# faaon ae3 a1 FEnat Bt & A OMR sie F w5t & wowmen w3 aw e & uid a9 e 3 26

The Question Booklet comprises 96 pages having 150 questions, After being instructed to open the Booklet, only then the candidates will
open the Question Booklet scals. Check whether the Beoklet contains 150 questions starting from Page Ne. 3 to 90. The Shift Number
required in OMR Sheet will be as per admit card issued to the candidaie and also mentioned on the top of the Question Booklet,

g i # 06 98 mH 150 W 2 | weendt g F—'-J A % IO L wvE-gieT & de g | 97 giafies = 2 B owe-giam
n 150 T & 1 PR 98 WE 3 A WA TR 90 AF £ | mm«hwﬁmwaaﬁnmﬁqﬂmeIMT FAAW S F
2w AT weA- qﬁHﬂT—qﬁmTﬁﬂfraﬁmgqr*’l

AR questions are of MCQ (Mulfiple Choice Question) type. There is only one comect answer o cach question carrving one mark,
There will be no negative marking for wrong answers,
ik wa R Y | werw uaE w1 v e f1an R v wee o fe Pt e £ | e a3 T smmens ot Tl Rl e
AN questions other than language questions of Sections 11 and 111 shall be bilingual.
FE - F W wEate wve 1@ I F v F afofe f wh gl § 5o Rwmda o)

I{1 any event of any mistake in any question’s, candidates will not be penalized, However no corrections will be made in question/s during
Lhe oxd nmll.ﬂmn
weA 3 fore i & ford afvmedi 1 farht werm =01 Fermma = Fom 1w i safy # vt § T weEw s T wam e

I{mnch W mk. if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
Jugstion Booklet. No additiopal paper shall be provided,

T YRTE o TF 6T ] W - TTeAa o o7 H STe =1 T2 | 380 v -afera 8 78 w1 ) Tl v aafafom s 5w 15 s wwen
Use of Log tables. Caleulator, Slide rule, Mobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic item/instru-
ment cic. 15 not allowed. Their use will result in 1.!|‘-L'|'|.hL||t|L¢I1|I.'5|'I
P TG, A, Wi B0, WIS A, T4, =4, ATEFRIEA A1 R #7 UER 1 R T /e & wan
afda # | =06 I9am W WA @ s aiea e :n-Tcn'r-?

OMR Answer Sheet will be provided along with {Jll.ll.h“l:lﬂ H".J\ﬂ'\lL[ separately,

OMR 1tz wea-qfear & my ﬂ‘ijﬂhzw & wra |

The Question Booklet will be issued 1o the candidates 10 minutes before the start of examination and the candidate must fill all entries in
OMR Answer Sheet, The Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to
4 entries correctly on the Question Booklet. After opening the Question Booklet, ensure that any page / question 15 not missing / not
printed / torn / repeated. In case, vou find any defect anywhere in the Question Booklet, immediately inform the Invigilater and get it
replaced within § minutes by the Invigilator. Warning Bell will ring a1 3 minutes before closer of examination and the last long bell will
ring at closer of examination.

:rmna«‘ruﬂ-qﬁ-mwm AT B lnfn'r!'raf A | AEe AEaE T A OMR sfiz o wdt ufatei =1 wd wFR a9t
wyA -gfers 1 W 9 s F 5 e *JH Hl wW AT | & 4 4wt & we ST.IT‘ A q | N -gEaE JeE T
qﬁsn:ﬁma’sn—ﬁfaﬁrﬁ—mﬁ g # /T W gl Al qE 2 wE TR mwvﬁ%mm%m
EER IR A Po M oAl R - pack: | ?r‘q* crrﬂﬁﬁ*'m:rm:h&ﬁﬂrﬁaara-n 5 fire % i o @1 s g - q
FeAdl A | AAER TE TR waie & 5 e o ot e = w9 witen sfen w e

Write yvour Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet
Numbgr jn the space provided in the Question Booklet as well as in the OMR Answer Shee L. . ) =

o - T lJHIR sz @ TAsfie 3 T AW, 98 6 F &S, Se, ATHIE, quﬁ-wé:m i wrz, firee wwiE oA we g
FATT ﬂﬁ?{ | ) )
With cach question vou will find 4 posstble answers marked by the letters A, B, C & D. Read cach question carcfully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropnate circle completely in the OMR Answer Sheet
orresponding 1o the question. For marking WS usE blue/black ballpoint pen only. Gel pens/pencils are llnl allowed,

I W9 o AR AT S0 A, B, CA D #5003 | 9 A1 S 1 6l SA R w5 S *1'1' I'T'U\ Tﬁ i fiidff-ﬂd A AT
5 Ty T I ] R S B | S AU o e e a1 e A ey 9 1 #1 g k| 4 It afda # |

Comrect Mahod CORRECT [ wHl WIRONG | TR WRONG TR WRONG | TER WRONG | e

i OO0 ® BOooOO|[ogCO||cOoCO||[CeCe

OMR Answer Sheet is designed for computer evaluation, If you do not follow the instructions given above and at the backside of the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of
the candidate only.

OMR 5T F1 FP2% 210 Heai#A & ford = o 2 ) afz o 5o vd QMR 3fe 7 foge ye v foa w feisi 1 arem 79 #, 71 e
T TR HEITEA 5T 21 AT | 38 o & qiedi #1 g are e # freer saedk A Enf |

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in c|:Jp|1|_':JlL' h:wln::l_
perforation on the left side, Candidate should detach carcfully the Original Copy from the Candidate’s Copy (Duplicate) so that the
Onginal Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator
before leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not
allowed to be taken by the candidate.

Fid i sfem 99 = & o wien T # 9w o W aw | OMR e 3 O s el afew ¥ o et o weie
frm e 2 ﬁﬂmm*waﬁqﬁlﬁﬂﬁtﬂﬁ{ﬁ]nqvuﬁmm Al o ATl T ot 3 @ e wfa & R el A wE
qlian-wa 2 5 9F weadi OMR 91 g8 wfs 6 v g faw a1 die 2 ) st e s U\Ikﬁwﬁﬁmﬁmﬁmﬁl
i -qfre el w9 W Tl & o adR

Wrong Method @
TR T
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